1/16/22, 7:14 PM Numbers Grade 3 (301)

REAL-TIME ONLINE TESTS
Numbers Grade 3 (301)

1. What is the greatest even number formed by using the digits 5, 3, 2 and 1 only once? (1 point)
3215
5312
® 2135
5132

2. Sunitha wrote a number on the black board as shown8 ? 9 If it is formed using three different (1 point)
digits, which number could be placed in the blank to make it the smallest number?

8 9
®0

3. (1 point)
15| 8 11|24 17

16 (14| 7 | 5 | 23

22 120 13| 6 4

How many even numbers are there in the given square?
10
® 2

4. r= =-'i';\ (1 point)

Ty
5

Madhu guessed that there are 986 buttons in the small tin given.
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Which of the following is the number of buttons written in words?
@ Nine hundred and eighty six
Eight hundred and ninety six
Six hundred and eighty nine

Nine hundred and sixty eight

5. Which is the least 4-digit number among the following? (1 point)
9871

1239

1542

® 1119

6. How many numbers are there which contain two digits? (1 point)
10

® 9
)99

100

(1 point)

A boy has these numbers on some cards. He does not have
these on any card. Which of the following numbers can the boy have on his cards?

256
® 474
576
625

(1 point)
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Observe the given picture. Who is holding a card
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with an odd number on it?

Guru

@ Smitha

Madhavi

Rekha

Numbers Grade 3 (301)

9. Which of the following expanded forms is correct? A. b. c. d.

3069 = 3000 + 600 + 9

® 3160 = 8000+ 100 + 60 + 0

9007 = 9000 + 700

(3049 = 3000 + 400 + 9

10. | l | l
e, £}
W aoD ™ 80
._'. = i.L i 1 2]
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o gl o o
BED L0038
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Which number has 40 as the place value of 4

11. Which of the following is the same as nine thousand and ninety nine?

® 9099
9009
9090
9900

12. Find the place value of 2 in 527.

1

2
® 20

28

https://testmoz.com/8386338/admin/key?word=0&version=a&key=18&explanations=1

(1 point)

(1 point)

(1 point)

(1 point)
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13. What is six more than a hundred? (1 point)

160
® 106
116
601

14.

it (1)

o (d-
Al (B |
; | T
Vinod is taller than Sonu. Rahul is shorter than Ravi but taller
than Vinod. Which figure represents Ravi?

”;%) (1 point)

-
tﬁlwtﬂlt‘f

15. (1 point)

@)
(a) (k)
; . ®,

numbers missing in figure(b).

Study the figures (a) and (b). Choose the

1 and 3
2 and 4
2 and 3
® 2.and2

16. Find the missing number in the following. 6597 = 6000 + 500 +?%10 + 7 (1 point)
597
97
90
®9

17. Which of the following numbers has 4 in the tens place? (1 point)
324
496
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438
® 943

18. Which number is 1000 less than 20507 (1 point)
2150
1950
1850
® 1050

19. Vamshi wrote a 2-digit number on the blackboard. Three students Varun,Tarunand Arun said the (1 point)
following about thatnumber. Varun: “It is a 2-digit number but not the least."Tarun : “It is the
predecessor of the least 3-digit number." Arun: "It is has three different digits."What is the
number, if only two of the three students were correct?(A) 10 (B) 99 (C) 100 (D) 123

10
® 99
100
123

20. How is three thousand and fifteen written in numerals? (1 point)
® 3015
315
3150
30015

21. What is the greatest 3-digit number that can be formed using the digits 6, 0 and 3? (1 point)
306
360
603
® 630

22. Which number is 10 more than 567? (1 point)
557
577
667
® 765
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23. The numbers from 1 to 25 are written one beside the other. Which digit is in the 25th place from (1 point)
the right?

24. @ (1 point)
| 090 000 000

Hun@edsT@nsﬁ or@

the given figure?

If represents 1, what is the number represented in

® 456
653
123
300
25. Study the information in the box.My 10,s digit is 9,100,s digit is 3, 1000’s digit is 8 and ones digit (1 point)
is 6.Find the number.
3986
8396
3896
® 3693

26. Which of the following statements is correct? (1 point)
321 <235
420 >510
725 <638
® 827> 639

27. Look at these numbers.1357924608. Which number is the sixth from the right? (1 point)
®o
5
2
4
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28. Which is the least 4-digit number among the following? (1 point)
9871
1239
1542
® 1119

29. Find the number with '8'in the hundreds place, '6, in the ones place and '7' in the tens place. (1 point)
867
786
687
® 376

30. Identify the greatest number that can be formed using three different digits. (1 point)
999
978
® 937
897

31. Find the predecessor of 10000. (1 point)
9999
® 10001
999
100

32. (1 point)

Before Number After
3849 ? 3851

Which number replaces the question mark in the
following?

3800
® 3850
3900
3949

33. Find the missing number. 7 thousands + 20 tens = ? hundreds (1 point)
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7200

720

702
® 72

34. Find the number equal to 24 tens +2 hundreds + 9 ones.
249
® 449
409
494

(1 point)

35. Which symbol should be written in the box to make the number sentence correct? 542378358 (1 point)

>

® <

Either (A) or (C)

36. "

e ey SREE
Qe plg it - Hundreds (Tens Ones

L B b
O le=v [ &

the symbols used for each place. Find the number represented by
® 356

563

509

365

37. Which numeral represents 800 + 9?
89
8009
® 3090
809

38. What is the smallest 3-digit number that can be formed using the digits 3, 0 and 6?

036
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(1 point)

(1 point)
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® 306

360
603

39. Find the smallest 4 - digit number. (1 point)
9999
1001
® 1000
9900

40. ] (1 point)

B
-
i

T—:‘

i

:r:.
ul

I Mo

e ——

T How many beads should be removed from the hundreds place in the abacus
given, if it has to represent a number between 500 and 600?(A) 5 (B)4 (C)3 (D) 2

o,

ALY -

.-':l- -
o

5
@4
3
2

41. A boy has drawn a ball from a bag containing balls numbered from 1 to 100. It is found to be 89 (1 point)
more than the least two digit number. What is the number?

10
19
29
® 9%

42. Which digit in 4938 has the highest place value? (1 point)
8
04
9
3

43. (1 point)
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1l
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@ et | B
Look at
the symbols used for each place. Find the number represented by
® 356
563
509
365

44. Look at the number line given. Which number replaces the question mark on it?
820
826
® 330
834

45. From the number 324, if a boy chooses the digit 4 he gets to occupy the fourth place, if he
chooses 3, he gets theplace. Which place should he occupy if he chooses 2?

200th

2nd

2000th
® 20th

46. Which is the greatest number?
498
654
® 361
723

47. What is the smallest odd number that can be formed using the digits 7, 2, land 6?
2671
2671
2176
® 1267

48. What is the difference of the place values of 2 and 4 in 9234?
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(1 point)
10/14



1/16/22, 7:14 PM Numbers Grade 3 (301)
42
® 24
204
196

49. Find the next number in the series given.200, 205, 210, 215. (1 point)
250
240
230
® 220

50. (1 point)

ﬁ% ﬁ J%—-ssa

mon woman  boy

854

WETIAN

Observe the given picture. Which number replaces the ?in
the given picture?

369
396
693
® 639

51. @ (1 point)
{a) & O (k)

Study the figures (a) and (b). Choose the

numbers missing in figure(b).
1 and 3
2 and 4

() 2and3

® 2and2

52. (1 point)
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Name of River Length (in miles)
Krishna 810
Godavari 945
Narmada 613
Ganga 876
Kaveri 815

The table given shows the lengths of
some of the rivers in India. The length of river Krishna is greater than that of which river?

() Godavari
Ganga
® Narmada

Kaveri

53. How many hundreds are there in 44807 (1 point)
448
® 44
4400
4480

54. (1 point)
815 T

04 948
8D 466

Look at the numbers in this box. Which of the following is true of
the numbers in the box?

They are all greater than 500.

@ They are all between 100 and 1000.
They are all less than 900.
They are all less than 950.

55. (1 point)
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What is the number shown on the spike abacus?

56. What is six more than a hundred?

160
® 106
116
601

57. How many tens are there in 5690?

90

9

69
® 569

(1 point)

(1 point)

58. Some numbers are formed using digits 9, 2, 6 and 5. Which is the largest even number that can be (1 point)

formed?
9256
9562
® 9526
9652

59.

Before

Number

After

3849

?

3851

following?

3800
® 3850

Which number replaces the question mark in the
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3900
3949
60.
15 | 8 | 'k (24, 1F
16 (14| 7 | 5 | 23
22 120113 | 6 o
78 519 | 1dm 10
9 T2 | 25NSE | 11
square?
9
11
® 3
15

Numbers Grade 3 (301)

How many odd numbers are there in the given
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